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Roots of War
• On June 22, 1941, 3 million German soldiers attacked the 

Soviet Union.

• The war between Germany and Russia was only supposed to 
last a couple of months. 

• It would last 4 YEARS with Russia starting at a disadvantage.

• The Soviet-German War grew into the largest and most 
costly conflict in all of history.

• It was War between two dictatorships led by Hitler and Stalin

• The Soviets would later become the victors, but at a cost of 
an estimated 27million people dead.



What led to the Devastation?
• Hitler’s hatred of Soviet Communism.

• Hitler’s ideas of economic imperialism.

• Hitler’s pursuit of Lebensraum.

• The fear of Soviet expansion in Eastern Europe.

• The quick fall of France to Germany in July 1940.

• Started the planning for all-out attack on the Soviet Union.

• It took Hitler until December1940 to make a final decision.

• The invasion would be known as Operation Barbarossa.

• Germany was sure that Soviet armed forces were primitive.

• The Soviet people were waiting for liberation.

•  Victory was expected by the early autumn.  



Soviet’s Point Of View
• Attack was complete surprise to Stalin.
• Stalin received repeated intelligence warnings.
• The warnings included precise day and hour of 

Germany's attack.
• Stalin remained convinced that Hitler would 

not attack as long as England was undefeated.
• Stalin didn’t want to risk a war with Germany.
• He wanted to profit as much as possible from 

England’s and Germany’s dispute. 



Soviet-German War Begins
• The invasion shocked the Soviet Union.

• By the fall of 1941, German forces had destroyed 
most of the Red Army and the Russian air force.

• Germany had surrounded Leningrad (1 million 
would die of starvation or froze to death)

• German’s were approaching outskirts of Moscow.

• In the summer of 1942, German offensives took the 
rich oil fields of Caucasus.

• Hitler hoped to capture oil and sweep through the 
Middle East to meet up with Axis forces in Egypt.



The Battle of Stalingrad
• Hitler initiated a major summer offensive in 1942 that was 

designed to destroy the Soviets' ability to resist. 

• Hitler believed that the Red Army had used up much of its 
manpower and materiel in the winter fighting.

• Stalingrad became the ultimate goal of the German Sixth 
Army in early July. 

• If Hitler hadn’t interfered, Stalingrad might have been taken 
without a fight.

• However, Hitler had to send Panzer divisions south to the 
Caucasus; which allowed the Red Army to                       
organize its defenses.



Stalingrad continued
• The Russian 62nd and 64th Armies in Stalingrad maintained.

• Several days of heavy fighting and bombing raids followed.

• The Russians were led by Lieutenant Vassal Chuikov who 
clung to the devastated city.

• The High Army, concerned with protecting the 6th      Army's 
left flank advised a withdrawal from          Stalingrad.

• In early September, the German infantry started a mass 
attack on Stalingrad.

• The fighting was close-quarter combat from house to house.

• Tanks became useless due to the rubble.

• The Germans reached the center of the city a                   
week later.



Stalingrad continued
• On September 29, the Soviets were able to recapture the city.

• A reinforced German army tried again on October 14 and 
hammered the Russian defenses. 

• The Russians, greatly outnumbered at first and gave ground.

• But were able to ferry fresh troops across the Volga river.

• By October 24 their wasn’t much left of the city that held 
nearly ½ a million people.

• Stalin refused to give up the city named after                      him.

• Hitler wanted the city for its propaganda value.

• On November 5, Rommel was defeated at El Alamien.

• Hitler would send reinforcements on November 8.



The Red Army Strikes Back
• On November 19, a massive Russian attack surprised the 

Romanian 3rd Army northwest of Stalingrad.

• This exposed the left flank of the German 6th Army.

• The High Army begged Hitler to let the 6th Army retreat.

• Hitler denied the request and ordered the army to fortify.

• The last battle of Stalingrad spelled the end for the German 
6th Army.

• On January 10, 1943, the Soviets commenced a full-scale 
assault on the 6th Army called Operation Uranus.

• The German troops were exhausted and dispirited. 



The End of Stalingrad
• By January 25 the Russians had overran the                        

German 6th Army.
• Hitler remained the same saying, “The 6th Army will do its 

historic duty at Stalingrad until the last man.”
• Nearly 1 million German Soldiers were captured by the end 

of January.
• Of all the German soldiers captured by the Russians, only 

around 5,000 would return back to Germany after the war.
• Nearly 150,000 Germans died at Stalingrad.
• Russia admitted that they lost only 50,000 soldiers.
• The German army, still strong, would never recover.
• Russia captured guns, vehicles, and other equipment.
• Destroyed 500 of the Luftwaffe’s transportation aircraft.



The Tide Turns
• Some historians believe that the victory at Stalingrad was the 

turning point.

• But the Red Army did not decisively defeat the Germans 
until the summer of 1943.

• The Battle of Kursk in 1943 would be a real turning point.

• The Red Army would withstand a massive German assault 
and follow it up with a counter attack as Kursk.

• Over the next two years, the Soviet army would force the 
Germans back into Germany.

• In May of 1945, Soviet forces accepted                                   
the surrender of Hitler’s army in Berlin.



How did the Soviets win?
• How could the Soviets bounce back after-                            

A.) Two years of defeat.

    B.) The loss of almost 5 million soldiers.

    C.) After nearly 2/3 of the Soviet industries were destroyed.

• The USSR’s limitless manpower was helpful, but Germany 
had a large population as well.

• The early war tactics were wasteful with Soviet manpower.

• The Soviets would have likely lost the war if this continued.

• The USSR was also behind Germany in                            
economic resources possessed.                                               



Production of Weapons
• In 1942, Steel productions for Germany – 28 million tons.
• The Soviet Union had only 8 million tons.
• Germany was producing 317 million tons of Coal.
• The Soviet Union was only producing 75 million tons.
• Luckily for the Soviets, they still out produced Germany in 

the quantity of most major weapons.
• However, those weapons frequently lacked quality.
• The USSR was united into “a single armed camp.”
• All work was focused on military                                         

production.
• Only guarantee of food was to                                                 

work a 12 hour shift.
• US and Britain provided                                                         

Lend-Lease Aid.                               



The Red Army Reform
• The Red Army and the air force was reformed in 1942.

• Every area of the Soviet military was examined and changed.

• The Red Army became equivalent to Germany in heavily 
armored Panzer divisions.

• Those divisions became more organized due to radios.

• Army tactics and intelligence was also overhauled.

• Surprise, misinformation, and camouflage exploited the 
German Army.

• The air force provided a certain security for                            
the Soviets. 



The Price of Victory
• The hatred from both sides was ferocious.

• Soviet resistance helped the Allied forces invade France by making a 
two front war for Germany.

• Stalingrad cause 850,000 German                                                           
casualties.

• 750,000 military casualties for the                                                            
Soviets. 

• 40,000 civilian casualties.

• By the end 8,668,000 Soviets were dead.

• 6,000,000 were POW’s taken by the Axis powers.

• 4,000,000 of the POW’s died in captivity.

• Germany had a total of 2,415,960 dead.

• 4,500,000 were POW’s taken by the Soviets.


